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[ oW o IZHADIZIN B3 | (A MY | |52
= 16, BYR w3 dyow A ¥ AL T 20, Y HskE ¢ar, o duA(We] 24g dw 7P doke: A1L?
@ ARAPEEC] AW APHIAEE Tt
@ ool &0l FolAu Y HURE Hea o can o for vou? |
3 a AL So] EolAW 2o g W I'd like to se'nd'a parc'el to Australia by EMS.
NN ol e o s M : OK. What's inside of it?
@ eAArgEel sopH LR HERT god W : Clothes, cosmetics, seaweed, and hairspray.
M : I'm sorry, but you can’t send hairspray by EMS.
B 16 ABRY Ao B AHOR &4 %o e W £ Why not?
O waAefA= weseas AT = e A7t Ao M : Inflammable things aren’t allowed into the aircraft for
@ B@AF A4 A nFRYRe Folvt Basih ety reasons,
© AERG Ao v 15A] viAE RgddAE & 4 v W : Is that so? Then, is there any other way available?
@ BRI APRE AGAZA Al B dake] AMHEe7 Easitt M : You can mail it by sea, but it'll take 45 to 60 days.
W o It takes too long. I'd rather take out hairspray from my
= 17, S SASAESH| H A A Ao A S AL? parcel and use EMS.
D A& an BANES v e Agos ok uhel M : OK. You're all set. Thank you.
Hjl B @D To send her parcel by sea.
@ s olgd Ayl dAve Wy @ To make a protest to the airport.
© AUAZHG S AEWA ok Aol SRl sl 90%7) @ To check out other options available.
2T @ To mail her parcel without hairspray.
@ R@sor] ANHY RER: WAE & o)
218 FATAA AFHE BosQTRE 23(@FAR)Y A
AR A F& A2?
D w184 MR 9S4 ok
Q RPRE NS A9T F gt
® HA7I%e 089 Aad 5 9
@9 HERE 100%9E A8 5 g
F19. e 29 hgn AA3HA gL R

Drinking wine can damage your teeth. That is the conclusion
of a report from the Johannes Gutenberg University in Mainz,
Germany. Researchers tested the effects of eight red and
eight white wines on teeth from men and women aged
between 40 to 65. They discovered all of the wines damaged
the enamel that protects our teeth. This makes our teeth
more sensitive to hot and cold food and drinks. It also means
the teeth will stain quicker if someone drinks coffee. The
research team said white wine causes more damage than red.
The acid in white wines attacks the enamel and wears it
away. The bad news i1s that brushing your teeth after

drinking wine will only make things worse.

(D They experimented on people with sixteen wines.

@ It is reported that wine can harm the enamel of our teeth.
@ Wine makes our teeth more susceptible to hot drinks.

@ After a glass of wine, brush your teeth to protect them.
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1. mho]a 2 A’k (operation)oll thet Aoz &4 G2 A2?

D & e 28 B2 o AdH =

@ & e mholam A4k FHAE wlo]AR Aol F
F21 CPU Uehl= A== ARSET

@ shte] ol Y sl vlojas dite] w2k o] Adn.

@ A ZE(shift), ZE(load) 5ol STk

7% 5 Aoy,
Epol o]}

[=
AT E
==

1==Ne)

T et 2 M1 16KB
(kilobyte), M2+ 14KB, M3+t 5KB, M4+ 30KBo|™ F7]9744] 9
A2 FEEE ML M2, M3, M4 A7 A1 Elan Qe ol
13KBE edke Aol HxASFirst Fit) W9, A4

2. F719HA M A7

(Best Fit) #¥, 43 (Worst Fit) oz 794
Zbzb A E v AdE S 2?7 o, WdeA s 954
A WA H2AY Aoy F WAV HAAYE A3 1y
Al AL FobAgE A3E oful it

@ M1, M2, M3 @ M1, M2, M4

@ M2, M1, M4 @ M4, M2, M3

3. 4 eiEEAleldS s gk ATHE o] T o] HE AL?

@ Javascript @ JSP

3 ASP @ PHP

4. 3|Al(hash) BEAolA A2 (division)S  7)(key) <
(array)e] Z712 Wrol I UwA] s SJA] fhoz Algehe
Wdolth oy dolHe S @ ALHeE Fete] 11719

L

5. 3|Abel A 211.16883.0(F 22~

H
Uas 2t el Adsiea stk sjA] gkel S=(collision)o]
LAt doje g d78 w2 A2?
111, 112, 113, 220, 221, 222
@ 111, 112 © 112, 222
® 113, 221 @ 220, 222

—

0] MEYAE AHgsta gt
Wrdom 579 A3 98
255,256,206, 224%. “474akiet. ol 21116883347}

HREAAE Fas o AP
@ 211.16883.15 @ 211.168.8347
) 211.163.83.63 @ 211.168.83.25
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Aol F ] HolEHo]AE 7537 95t
4

dioledo]~ dHolds Aarsteirt. o] aesfor & ARt
7 Aol fle A0
@ HatA] &= olE e Fhe AAH
@ HtA] &= dolE e F&e AT
©Q ¢ oA U £4E 119 #AE nedith
@ g dyo]ld o FE5 118 #AE g
7. Windows XPollA] &g AAol| 73t Aoz &2 ¢F2 A2?
@ 71 ZdE= o4 1w 448 5 vk
@ HEYA ZdE = 7] ZdEz A48 + gt
@ g dje] ZH-EE o] tfo] ZAFEelA HEYAR & 7Fsdith
@ MEHZ 473 vrHE B o 3 ZdE: 378 5 At
8 +AA= L&A (batch), e} (interactive), 2 A|7Hreal-time)
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W& Al

% 9k ol pe BF

yu] -4 ©4(Breadth First Search; BFS),
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4
>
fetl
sﬂo
x&

=7 &, & oY Aie

=
rir

e
%
»E

_DFES
A-B-C-D-E-F
A-B-F-C-E-D
A-B-C-D-E-F
A-B-C-D-F-E

o[EjHlo] 2 HA O YT T gjq SO

T U T

SR
“~(aggregate

function)7} opd #2?

@O COUNT
@ TOTAL



25 H 24

=

ng| |7

=

e

e

M

1L th39) Java 2PN AEEA e 7L

class Adder {
public int add(int a, int b) { return a+b;}
public double add(double a, double b) { return a+b;}
}
class Computer extends Adder {
private int X;
public int calc(int a, int b, int ¢) { if (a == 1) return add(b, ¢);
else return x;}

Computer() { x = 0;}

public class Adder_Main {
public static void main(String args[]) {
Computer ¢ = new Computer();
System.out.println(”100 + 200 = ” + c.calc(1, 100, 200));
System.out.println("5.7 + 9.8 = ” + c.add(5.7, 9.8));

@D 783K Encapsulation) @ A< (Inheritance)
@ 2#ete]d(Overriding) @ <=4 (Overloading)

oo

o grhEA] AAoizl AL

12. oA O3 @ Eo12 Ul

Welols FlogReln F4AEA
A5es A% (O e
1

o

AL 7hA o}
A= vholaz At

i

{t

a9 ©
O 9= MAR « PC
@ A=z MAR < MBR(AD)
©® A3 MAR < PC
@ A3 MAR < MBR(AD)

13. MS Excel® A ECA AL 53 doja Tea
T Aujgde] GAVE Yol gtk oju] CHell= HA
T Uu] 4 A FFEFY HES, EFole AA Bl
tin] Zh AR Fofgele] wje-S Kol gt o]E $J3)] C24ld
TS 4Es theel o] CE¥ EZe] U] Ao HAlsto]

A}
A B g D E
1 Al e Mg | mojEY | He
) | zHa 78 8,000,000
3 == ab 7,500,000
4 o= a3 13,000,000
5 | Lgd 34 10,000,000
B | A a0 8,000,000
7 A 341 46,500,000
@ =B2/B7+100 @ =$B$2/B7+100
3 =B2/$B$7x100 @ =B2/B$7x100

e

Fia

Fia

A

14. 39 (postfix) P oz 7" o 4%
Aelsks ol 289 B(TOP) 949 #hs

o

=
o
=

;ﬂ?_{\_l]—(operand) Uo7 = o|F(binary) g4kzlo]t)

4 5 + 2 3 * -

D452 36 -1, 3 @4,59 2 36, -3
®4,59 2 18 3, 16 @4,592 36,3

A

rlo
tlo

15 <w7>E ARY wdEd Ben Aol &

AE AL

2" (stack) 0. =
2] ydgt
A7 & Ar K operator) &= o A AR FAEHE Tl

o
i

<H7]>
1. 274 00011019 29] H.4=(complement)+= 1110011¢]t}.
L, B39 29 By 3AWHL F0)°] st EAj gt
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17. C =299 Ag Axz && 789

#define VALUE1 1
#define VALUE2 2

main()
{
float 1;
int j,k,m;
i = 100/300;

j = VALUEl & VALUEZ;
k = VALUE1L | VALUEZ;

if &&KkIIDm-=1+7;
elsem =j + k;
printf("i = %.1f j = %d k = %d m = 203d\n”, ij,km);

@i=00j=0k=3m =003
@1=03j=0k=3m =000
®1=00j=1k=1m=001
@i=03j=1k=1m=001
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